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]ntroéuction to 17X 2= y1av pig

In 1 719, we saw a list of 7p72 w that justify 1132 nv’ny; this chapter expands the list to include those oo that vender a ji2 unfit for Ay
31.7.1; 43a (8 mwn) 2 44a (201710 177N R5T)
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I 1x mwn: extension of omn to 01n3; all nn listed in " P19 apply to 07N, - even if temporary - plus...

a

head: N9PO YWRI ,VIPY TWRI L1apN ,iNaY 19D

i p5> head is shaped like a barrel-cover (wide below and tapering on top

ii 9% head is shaped like a turnip (round and wide on top, tapering below)
iii 7372 head shaped like a hammer

iv vy 1wNT head appears to have a piece missing in front

v nojpp iwnT head appears to have a piece missing in back (per aphorism)

1 a7z if his neck is V1pw (can’t be seen) or VINY (abnormally long neck)
Back: a hump (hunchback) - nmn> 1 does not consider a mn, 0'non consider a DN
i Note: only disagree if there is no bone (dissimilar; yet just “flesh”); if bone present — all agree it is a D
Hair: baldness is a on
i Definition: if he doesn’t have a hairline going from ear to ear

I General analysis of relationship between nnna 'mn to 113 "mn

a

b

Question1: why do all nnna 'mn apply to 103 — nb2 is only written in re: animal (v. 1)
Question2: why did we list :1%an p7 (v. 2) in last 79 — mentioned only in re: v’
i Answer (to both): v. 1&2 both invoke 173 and na% to establish w13 from nnna »mn (v. 1) to onna mmn (v. 2)
ii ~ Observation: both words must be superfluous (n19); else, we could challenge w1 in each direction
ili /7972 cannot teach us DR, as it is offered on Nam; DIR cannot teach us N3, as he has lots of NMxn
1  Response: indeed, it is superfluous
(a) Argument: no need to write 27; if nab, which isn’t disgusting, is still a B —1"p that 271 is a D0
(b) Therefore: 271 (x2) is superfluous
(c) Question: why didn’t the n7in write them all in one place and use na%/17::n85/273 to connect them?
(i) Challenge: if it only wrote them in re: DR, we would apply DX to nnna
1. But: hooves and gums (which don’t apply to nx; his gums are covered by his teeth) — w2
(ii) And if: it only wrote them in re: nnna, we would apply nnna»mn to oTR
1. But: 123 (on eyebrows) and pyIn (squashed nose), which don’t apply to nnna — not oTR MmN
Question: why didn’t " n write common o'mn in 1 place, na 27 in both, and unique ones where they belong?
i Answer (to entire line of questioning): per »*17Tn — any nw1a which is repeated is only done so for new info
X27. need for NN to write pPnn for DWIP 1191 and 1>
i If: only legislated 103 'mn, wouldn’t apply further — as he has many nmxn
ii ~ And if: only legislated nwTp 'mn, wouldn’t apply to DR, as the animal is offered on nam
iii And if: it only legislated 7122 *mn, wouldn’t apply to other ©»w7p, as 7131 has born-nw1Tp (DNIN WVITP)
iv  And if: it only legislated Dw1p, we wouldn’t apply to DR, as DWTp themselves are offered
v And if: it only legislated D*w7p, we wouldn’t apply to 1133, as DwTp has many types (unlike 1131)
vi  Observation: we cannot infer any of them from just one; perhaps two would have been sufficient
1 Proposal: let the " n omit 71191 and infer from oTRY DWTP
(a) Rejection: they have wider-range of nw1Tp and it applies to nvWwa (non-m121)
2 Proposal: let the N1 omit »wTp and infer from 7921 DR
(a) Rejection: 11321 DR are both born into their status
3 Proposal: let the NN omit nTR and infer from w71 DR
(a) Rejection: w1 1101 are both offered on nam
4 Justifying: all 3 needing to be written
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I Further analyis of relationship between 103 'nn that are unique and general o’mn which apply to animals

a

b

Source: for “extra” nymn for 0”13 — v. 3 — must look “normal”

Question: what is consequential difference between wnn and “..oR 93?7

i Answer: if a 102 has a bona fide pn, his nmay is profaned (& invalid - v. 4); if only “different-looking” — not Y5nn
And: difference between “...mw 1RY” to a "DN” due to Pyn RIN?

i Answer: performing nmay with a blemish only banned due to pyn n®In (e.g. no eyelashes) — no nwy NoR at all

IV Comments on %109 of baldness —

a

Mwp: must have hairline extending from ear to ear
i ~27(version 1): only invalid if he has no hair in back but has hair in front
1 But if: he has hair in back and front — 7w3 (and certainly if he has only in back)
ii  ~27(version 2): comment on X0 (if he has hairline, 7w3) —only if he has hair in back
1 But if: he has both — invalid (and certainly if he has only in front)
212 71 0303 who are bald, midgets or 0511 (eyes always tearing) are nT2p% %104 - not 1720 1R YW W12 MY
i Note: only new information here is n1%ar (0’1n7p — in our MWN; DO — in 1 NWN)
ii  Teaching: that it isn’t “just” pyn rPRIN, but an essential disfigurement n1nn 0
1 Challenge: whenever there is a Y0 n’Rn cause, the Rin stipulates so — as in 3 NWn in re: lost eyelashes
2 Answer: so that we don’t think that that one mention “carries over” to other
(a) Challenge: but each time a Pyn 1R8N concern is listed, the Rin explicates — as in 'n mwn in re: lost teeth
iii ~Rather: 3mv "1 is in apposition to nT? "1 - these three are “only” Pyn nRIn (0200 [v. 5] - includes 1inap)

V' 2r mwn: meaning and application of 121 (v. 2)

a

7’17 if he has no eyebrows or only one
i Challenge: 123 cannot mean that he has none; n25n w11 reads 123 as having many; j23 'R —none
1 Answer (X37): indeed; our w1Tn is using 123 18
~p17 1. if his eyebrows are so long they lie over his eyes
~7an7. if he has two backs and two spines (23)
i Challenge: such a one is not viable, per 27’s ruling - if human, mother has no n19v nrmw; if animal — n%ax81 MoK
ii ~ Answer: per 27’s answer to "W "1 — R"an is referring to a bent back that looks like two

VI 1 mwn: disfigurement of n1In (v. 6)

a

b

Definition: if his nose is so flat that he can color both eyes at once
Other ocular invalidities (all due to pyi 11787): if his eyes are high, low, one high the other low, if he can two stories at
the same time, if he is wnW 7o, a 171 or 11’¥ (explained below) or if his eyelashes fell out
i Note: “high” and “low” cannot mean that they look up or down — that is the same as “two stories”

1 Therefore: must mean that they are placed there; even if in a row, if he looks up and sees down — %108

2 Support: X2 - v (v. 2) anything in eye; even if he speaks with A and B claims he was looking at him
~n2272: definition of oyIn — his nose is flat; extend (via 1N 1R) to very short and turned up, sealed up or long
i ’p» 7 01N only applies to one who can color both eyes at once
ii  o’pom that's excessive; even if he cannot color them at once, still considered m1n
N12272 MY (V. 6) means blind, in one eye or in both eyes. White spots or chronic tearing — from my wx
i ~27 justification for 1wya ,5%an ,p7 MY WR
If: we only had 77, would think that only because he has no vision; but 179mn would be valid
And if: we only had 1y w& (2 Dnm 719N), because he cannot see, but a stain (p7) is valid
And if: we only had p7, because his seeing is impaired, but not if there is a “confusion” in his eyes
And if: we only had %15an, beause there is real confusion within the eyes
Therefore: we need 21 to invalidate even when it just has unusual apperance
(@) In conclusion: if he can’t see — anchored in wx; if it is deficient — p7; if confused — %9an; if unusal - ywya
Explanation of jv¥ j1ir,wpw 2o
i wpw »30. one who “hates the sun” (can’t look at it)
it y7r 81N pointed at N’ 29 (Who was insulted) as an example — each eye looks different

1 Challenge: X1 identifies oyTar (=]a1) as one black and one white

2 Answer: the Rin refers to any unmatched pair of eyes as oy
iii  y72» if his eyes are very wide or always tearing

1 an73x adds 11 (strange eyes); o9 (too many bristles) and 9'nn (no bristles)

(a) Challenge: if his eyelashes are gone, this is only a consideration of pyn nmxIn
(b) Answer: if follicles remain, only Pyn nRIn; if none — essential on

O b= W N -
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